& o #h & (1/1)

T f# I Bikk - St B AL | itk
(+T)

A1 N m3 | 11.02 11

IR /B m3 | 35.48 35

&+ 2. 5mPL 4. OATH m3 | 7.27 7

R /B m3 | 30.10 30

37 ]+ DR - (e L+

7 TEg - sy /N, L=7. 5km 5) /0.9 m3 | 4.98 5

(BERE T)
it P EL U BEREH=800

7" VA AL R S Y . HfECond V) 21. 50 m | 21.50 22
(FE s T

i Edielly £=40mm 6.3 m | 6.30 6

i I T {75 Ve 3tH (0. 5m3) L=200kmsE T B ] 1.00 1

N B —{5IeiLSy £ ] 1.00 1

i A AP ELHERTIA m2 | 486.87 | 490

WERR AR e L JEfCon, KEbR m3 | 3.87 4
GE R T)

HOE - 0y Asik, /NFAEE, L=3. Tkm 486. 87%0. 04 m3 | 19.47 19

el il e AAN HEfCon, BEMR, L=3. Tkm m3 | 3.87 4
(BfiZE T

B R 2 L m2 | 466.73 | 467

B A (HLE ) RM-30,  t =100mm m2 | 85.36 85

KJE (HEE) SRR E 3. OmE . t=40mm m2 | 552.09 | 552
(& T

A s H A B B A | 14.0 14




BEHER

HEH Bt 73 R HEM
BOA |REHl @ Kk BN @T 9K AN BT 9K RE BT HE AN BT 9K @
m B m m3 B @ m3 B m m3 B @ m3 W E m3

P0.0

P20.0 20.00

([RIERT) 0.0 0.00
P39.3 19.30 0.1 0.18
([RIERT) 00 0.1 0.0 0.18

60.5 2120] 02 0.0 0.1 0.00
(IR 02 0.0 0.1

P81.8 2130 01 015 320 o1 005 107 00 005 107

(IR 0.1 0.1

P91.0 920 01 010 092 o1 o010 092

(IR 0.1 0.1 17 14

P1125 2150 01 o010 215 01 o010 215 16 165 3548] 1.3 135 2903

(IR 0.1 0.1

P123.0 1050 01 o010 105/ 00 005 053

Gl

P143.0 20.00

(=) 01

P154.0 1100 01 010 1.0

(IR 0.1 0.1

P164.0 1000 01 o010 100] 01 010 100

(IR 0.1 0.1

P180.0 1600 01 o010 160 01 010 160

([RIERT) 0.1 0.1 20 18

P200.0 2000| 0.1 0.1 20 17

P220.0 2000| 0.1 0.1 19 16

P234.2 1420 0.1 0.1 20 17

P236.2 200| 0.1 0.1 19 17

P258.2 2200| 0.1 0.1 19 17

P260.0 180 o1 0.1 18 16

([RIERT) 0.1 0.1

P280.0 2000] 00 0.0

& i 280.00 11.02 7.27 35.48 30.10 0.00




BEHER

ConERiEL
A A O (EEBN @E 9K &
m W m3

P0.0

P20.0 20.00

(1)

P40.0 20.00

(1)

P60.5 21.50

(1)

P81.8 21.30

(1)

P91.0 920

() 0.18

P1125 2150] 018 018 387
(1)

P123.0 1050

(1)

P143.0 20.00

(1)

P154.0 11.00

(1)

P164.0 10.00

(1)

P180.0 16.00

(1) 018

P200.0 2000 0.18

p220.0 2000 0.18

p234.2 1420 o0.18

P236.2 200 0.18

P258.2 2200/ 0.8

P260.0 180| 0.8

(1)

P280.0 20.00

&% 281.00 3.87 0.00 0.00 0.00 0.00




AsFIZFELY (t=40mm)

HEHEE

Alm R RE 1y miE ik
P0.0 6.30

P20.0 20.00 6.30 6.30]  126.00
(=) 4.80

P39.3 19.30 4.80

(=) 2.80

P60.5 21.20 2.90

P81.8 21.30 2.90 2.90 61.77
P91.0 9.20 3.30 3.10 28.52
(GED 2.80

P112.5 21.50 2.70 2.75 59.13
([=1H#7) 3.10

P123.0 10.50 3.30 3.20 33.60
(GED 3.60

P143.0 20.00 3.60 3.60 72.00
(GED 3.30

P154.0 11.00 3.00 3.15 34.65
(GED) 2.60

P164.0 10.00 3.00 2.80 28.00
P180.0 16.00 2.40 2.70 43.20
P200.0 20.00 2.25

P220.0 20.00 2.25

P240.0 20.00 2.25

P260.0 20.00 2.25

([=1H#7) 2.50

P268.0 8.00 2.50

([=1H#7) 3.65

P274.0 6.00 3.65

P280.0 6.00 3.65

&&t 280.00 486.87




MEBEH R

TREEIE - B BEHAE (+=100mm)
R BB [ 1y EiE [ Bl BB [ 1y EiE [
P0.0 6.30 WEMEL P0.0 0.00
P20.0 20.00 6.30 6.30]  126.00 " P20.0 20.00 0.00
(=1 87) 4.80 " ([=] Br) 0.00
P39.3 19.30 4.80 HEMBHY P39.3 19.30 0.00
(=1 847) 3.60 " ([=] br) 0.00
P60.5 21.20 2.90 " P60.5 21.20 0.70
P81.8 21.30 2.90 2.90 61.77| #REMAEL P81.8 21.30 0.70 0.70 14.91
P91.0 9.20 3.30 3.10 2852 " P91.0 9.20 0.30 0.50 4.60
(GED) 1.69 " ([=] bfr) 1.83 W=1.53+0.30
P112.5 21.50 1.49 1.59 34.19 " P112.5 21.50 2.03 1.93 41.50[W=1.53+0.50
(GED) 3.10 " ([=] br) 0.50
P123.0 10.50 3.30 3.20 33.60 " P123.0 10.50 0.30 0.40 4.20
(GED) 3.60 " ([=] br) 0.00
P143.0 20.00 3.60 3.60 72.00 " P143.0 20.00 0.00 0.00 0.00
(GED) 3.30 " ([=] bfr) 0.30
P154.0 11.00 3.00 3.15 34.65 " P154.0 11.00 0.60 0.45 4.95
(GED) 2.60 " ([=] bfr) 1.00 W=0.40+0.60
P164.0 10.00 3.00 2.80 28.00 " P164.0 10.00 0.60 0.80 8.00|W=0.30+0.30
(GED) 3.00 " ([=] br) 0.30
P180.0 16.00 3.00 3.00 48.00 " P180.0 16.00 0.60 0.45 7.20
(GED) 1.21 " ([=] br) 2.31
P200.0 20.00 1.05 " P200.0 20.00 2.47
P220.0 20.00 1.05 " P220.0 20.00 2.47
P234.2 14.20 1.05 " P234.2 14.20 2.47
P236.2 2.00 1.05 " P236.2 2.00 1.97
P240.0 3.80 1.05 " P240.0 3.80 1.97
P258.2 18.20 1.05 " P258.2 18.20 1.97
P260.0 1.80 1.05 " P260.0 1.80 2.47
(GED) 2.50 " ([=] b#r) 0.75
P268.0 8.00 3.25 " P268.0 8.00 0.00
(=1 87) 3.65 " ([=] r) 0.00
P280.0 12.00 3.65 " P280.0 12.00 0.00
&t 280.00 466.73 a&t 280.00 85.36
TAEMEL 466.73
TREREGHRMEL) A= 466.73 m2
P0.0~20.0 £ B I(t=40m) A= 126.00 B EE#E(t=100mm) A= 85.36 m2
P60.5~180.0 Z[BI(t=40m) A= 426.09 F B I (t=40m) A= 552.09 m2




